
N = 2533
2533 circles in a circle

radius =   0.018636265915
ratio  =  53.658817950748

density  = 0.879737261550
contacts = 4890
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N = 2534
2534 circles in a circle

radius =   0.018631668458
ratio  =  53.672058531643

density  = 0.879650402151
contacts = 6299
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N = 2535
2535 circles in a circle

radius =   0.018630681441
ratio  =  53.674901972059

density  = 0.879904307541
contacts = 5466
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N = 2536
2536 circles in a circle

radius =   0.018632479244
ratio  =  53.669723008994

density  = 0.880421301132
contacts = 5681
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N = 2537
2537 circles in a circle

radius =   0.018624497200
ratio  =  53.692724656074

density  = 0.880014000002
contacts = 4486
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N = 2538
2538 circles in a circle

radius =   0.018620857828
ratio  =  53.703218683117

density  = 0.880016846776
contacts = 4507
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N = 2539
2539 circles in a circle

radius =   0.018617480222
ratio  =  53.712961587050

density  = 0.880044236743
contacts = 4595
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N = 2540
2540 circles in a circle

radius =   0.018615880331
ratio  =  53.717577801266

density  = 0.880239541231
contacts = 4762
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N = 2541
2541 circles in a circle

radius =   0.018614139270
ratio  =  53.722602238973

density  = 0.880421385278
contacts = 4793
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N = 2542
2542 circles in a circle

radius =   0.018615839065
ratio  =  53.717696877010

density  = 0.880928737718
contacts = 4784
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N = 2543
2543 circles in a circle

radius =   0.018607536403
ratio  =  53.741665652990

density  = 0.880489365152
contacts = 4553
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N = 2544
2544 circles in a circle

radius =   0.018606622724
ratio  =  53.744304639733

density  = 0.880749104996
contacts = 4928
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